
[bookmark: _GoBack]PÍSEMNÉ DĚLENÍ     1                                                                                                                                                                     Jméno: ……………………………………………
                            A                                                       B                                                             C                                               D
	   19  906  :   7 = 




	
	44 125 :  9 = 
	29 621  :  8 = 
	56 683  :  9 =

	  72 057  :  6 = 
	84 087  :  7 = 
	67 805  :  9 = 
	76 103  :  8 =

	   1 906  :   17 = 

	4 125 :  19 = 
	9 621  :  22 = 
	56 683  :  51 =

	  7 657  :  31 = 
	8 287  :  41 = 
	6 805  :  32 = 
	76 123  :  61 =



